LLAB REPORT FOR EXPERIMENT 7 K\:i:///

Date:
Name:---- Partner's Name: --
P . .
Registration No:-~ Registration No:
Physics Section:- Instructor's Name:---

PHYSICS LAB EXPERIMENT 7 : THE RC TIME CONSTANT
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3-  From the data of charging current versus time, determine the value

of the initial charging current I, . This is the value of the current at
t=0. Record the value in table 7 n o t//l . “4 0 MmA

4-  Plot Ln(I/1,) as the dependent variable versus/tnne Here Iis tlle

charging current and I, the initial current detemnned i step (3)

above. Is the plot linear?
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Draw the straight line that best fits t data and determine the slope
S of fac ine. Record the value of th sIope in table 7.1 .
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Repeat steps 3,4 and 5 above for the second case.
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Determine the time constant for each case from the equation:
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and record it in table dals
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